EHI30FE ZIHREERINR
ifz B MENFER [EEIENES 5 B B B
123226 THER 1 % FEAT S, StERKX S EE 0 2P - HoRPAER & 0
2
IREFKX S EE 0 FTEEmE (RTESEEE, ) I 4,170
EREAGIKRSHAD (H31.1.1575) 20,830 A s R 0 BEAS = 0
mEe > KR SETR 0 Jo— - 0
(DBBKICHNDED) lEEQE‘ =17
BB AD " -
S G (SBBKEINBED) 0 SHERSH A 0
- W B T > R HOK KIS ER 0 - f— J—
— (5BBKCHNBED) 2% SR S 1
i 197,895 JHEBKAD 0 B i 1
\éﬁ oL ;.g En' (DBEBKICHDDED) P
B8 — 053,050 TIKEE |MEEZPEKIER e T . N =S — )
= , (5BEKCHDZED) = A
o . RTEHRAD U e
T i ” Bk Somcipoes ’ AR i sl :
2o i 0 . = BEIAKER 0 - BEBE 0
B sl T (5BEKCHDZED) = A
)\
BES BTN ot 217,294 mERAD 0 B i 1
mE INREESHEKNIRE {ﬁé ; 3?73@ e BESES
Al 0 3BBKCHDBED) 0 SERRR A 2
N == bl 20 J=Za=5+« « JSVHMMEBAD 0 - G fE T 0
1\ %% = A —) === =¥ = P n N ) n %@ﬁ‘g@ =
SHREEE P = 4 SHIESRCBAIEAD 1,094 AN TR SEBESH A 0
B8R (M) 0 1 MBI T hEER ElaiE= 2 EiE (Bl 1
RBPT ZN=j:0)
MBIER (HErR) 0 S — BRSNS | BT 0.0 SIRHEN A 0
WEAD 300 | [FERR g7y | DTG R 0 o B i 0
l/ﬁ EF?%’A”&;E 7 1EHEIS . A P BJ:J:ER&I’/ZJ_ .
ez Eifi £ 6 BB I5HEE 1INEER | &R 0.0 SERSH A 0
NIBHESD - -
i | wEAD 20,778 s |PUNIER |EWH 0 ‘ e T |
= FREBINES =LA U, P FFEKIZ —
SRINES 6,789 —ERBFEHASIIIESR | BT 0.0 BIEREHN A 0
I HENE 0 %:}\%?JI ﬁ%u%%ﬁ% BIAY 7 hEER EBEPTEL 0 Sy EBEETEL T 5
U P —BEHESE 0 L =1 —EPBIEMAS TN | & 0.0 SEHEHR A 0
K8 fioZ
BRIk HhEINE 0 SEEA EIENAVAiEE BFTE 0 REEIH— EBEETEL (0300 1
It 4D EEEN —
L T 0 TR | —uses e | 0.0 BEOR e i 0
RIEHEKAD 19,368 - ISENSR | B IIhEER El3E 0 BROR BIEBEN A 0
SEhEEx
S BRI ER 6,032,000 SEMER | hEIR IR BT 0 . BT fa T 0
=y EXNER
RIE BRI ETE 4,840,000 g WME | ThEAIIAESR BT 0 . EETE ot 0
ol s N
@R | of |ZE g |ctem |DEAIILINE B 0 - T GEED | of 536,819
T8
TKEFE | NHTKBE IRTEARIMBIS 0 29 GEERE | of 52,866
NEWE
HELEREEE 6,032,000 Tity (R | of 15,016
B E
REMERIAEE 4,840,000 - 21 GEER) | of 66
BB AD 19,368 e THIRRES T (R nt 17,538
BHEKSHETREAAD 18,874 \ ZOMOES Tty (Hhid) i 0




